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Resultant of two vectors A and B isinclined at | 1. U0 A O0ID3 OMO00COMO0 00N OMse (I
45° to both of them. What is the magnitude of O0I000m
resultant. D A+B N A _B
(1) A +B 2)A-B (D A+ 2 A -
(3) JA+B 4) JA B 3) JA*+B 4 JAa?-B?
The figure shown a logic circuit twoinputs Aand B | 2. UIOIOIDOI0OIODDOIOOTOEODIOMO00I0 000
and the output C. The voltage wave forms across A, A I3 OMMMONO0OIC OmA, B 00Mc Ol0moo?
B and C are as given. The logic circuit gate is: 0o000nooIdOl OO0 DiCImIIDO0 ioe0 o0 O
0O t it tl3 L, t t 0Ot t tla 7 P

(1) AND gate (2) NAND gate (1) AND 0L (2) NAND 10
(3) OR gate (4) NOR gate (3) OR [0 (4) NOR [
Consider the circuit shown in the figure. The | 3.  [IONIIOODOOTODOIIIOO0OLNS) DIOIIOMIOIO
current through the battery a long time after the OUIDINN OO 000Dl DOIooiOmor o --
switch s is closed :-

E E E E
(1) R, Q) R, (1) R, (2) R,

ER, +R,) E ER,+R))

) R ¥R, R,R, ) R +R, @) TRR,
A piston of cross-section area 100 cm2isusedin | 4. 0000 D00ODO0D0NOIOI0O OOCODODDOOO
a hydraulic press to exert a force of 107 dynes on 100 cm?) U107 dyne DOHI00OI0TOITIHT
the water. The cross-sectional area of the other 0000000000000 OnooonIoDmonoman
piston which supports an object having a mass 2000 kgl 00000000 O0NOONOLH
2000 ke. s - (1) 100 cm? ) 10° cm?
(1) 100 cm2 2) 109 cm? - .
(3) 2 x 104 cm2 (4) 2 x 1010 cm2 (3) 2 > 10% cm () 2> 10® em

C (0000 000 O Doieo boooo doa )
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Flgure shows electric field lines in which electric
dipole p is placed as shown. Choose the correct
statement

The dipole will experience a force towards :-
(1) Right (2) Left

(3) Upwards (4) Downwards

The minimum force required to start pushing a
body up arough (frictional coefficient p) inclined
plane is F, while the minimum force needed to
prevent it from sliding down is F,. If the inclined
plane makes an angle 6 with the horizontal such

E
that tanf = 2y, then the ratio F_l is:-
2

(1) 4 2)1 3)2 “4) 3

A circuit consisting of an inductance L, a capacitance
C and resistance R is shown in the figure. A, A, and
A, are the three ac ammeters connected in the circuit.
The frequency of alternating source is variable. Pick
up the correct statement(s) :-

1
(1) at resonance ®L :_C and the ammeter A,
®

gives maximum reading

1
(2) at resonance ®L :_C and the ammeter A,
®

gives minimum reading

(3) at resonance, the reading of ammeters A and
A, is zero but the ammeter A, gives maximum
reading

(4) at resonance, all the three ammeters give zero
readings

In YDSE, if one slit is covered with red filter and

after slit is covered with green filter, then

interference pattern will :-

(1) will appear red (2) will appear green

(3) will appear yellow  (4) will not appear

L o A R
OOIomoU oo onooon g

§>
(ool ogrgmioooom -
(1) 000U (2) U000
(3) UofIonur (4) L0l AOm
IOdloooootibdoOlrhiCOrH0w) CoodOmEoa
DUUDDDTDUUDUDUDUDDDUDUUDDUDUDDDDUJDDDDUDDUFI

0 F,
0 o OO0

F
OIDODNOMLT tan6 = 2p, OO F_l Onooomome:-
2

(1) 4 @)1 (32 43
0 A T
OOIOONID ¢ OoioOoniI R OmA , A, O A, 00O

Q0D OO0 O Dodrmhomon
giiomonorooonmoororiidrno0rynan.-

(1) OOt cosz—lc OIIDOOND A, 00ooo
Oooioruonom

(2) 00O coL:w—IC [0T0O0I0 A, 00000000

Om10m
(3) U00OIDINOOImD A, 00T A, 0000000000
A, 000001 Omoooitm

(4) DO0OI0000T DOo Do Coomiol o
0 A

oni0IOoooIOnnOriUnimidoDnroooz.-
(1) Oio0oorooon: (2) U0nioOmooda
(3) U00I00moToo: (4) (000000000
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Five point charges, q each are placed at the
corners of a regular pentagon of side a. What will
be electric field at the centre if the charge from
one of the corners is removed :- (r is the distance
between centre of pentagon and its one vertex)

kq 2kq

kq
@O = @2 Gzero 45

A bullet of mass 40 g moving with a speed of
90 ms™' enters a heavy wooden block and is
stopped after a distance of 60 cm. The average
resistive force exerted by the block on the bullet is:-
(1) 180 N (2) 220 N

3)270 N (4) 320 N

Assume a bulb of efficiency 2.5% as a point source.
The peak values of magnetic field produced by the
radiation coming from a 100 W bulb at a distance
of 3 m is respectively:-

(1)3.6x10°T (2)28x10°T

(3) 136 x 10° T 4)42x10°T

In electromagnetic waves, angle between direction
of wave propogation and vibration plane is :-
= (2) m/2

(3) n/4 @0

The variation of velocity of a particle with time
moving along a straight line is illustrated in the
following fig. The distance travelled by the
particle in four second is :-

N

E 20|

z

2 10p-

> i i

L 1 23 4 °
Time in second

(1) 60 m 2)55m
3)25m 430 m

A mass of 0.5 kg moving with a speed of
1.5 m/s on a horizontal smooth surface, collides with
a weightless spring of force constant k = 50 N/m.
The maximum compression of the spring would be
(1)0.5m

(2)0.15m O —_

3)0.12 m
@ 1.5

10.

11.

12.

13.

14.

Q0I00OOIMIOOlg Om o a0
QOndouoiiomoonoinlholbniooodIdIDoo
Hoianoiotddoirouiridido toodode
100:-

(r DOTOIDIONIDOINOOINr DI oino o 0l

0 ﬁ @00 @ 2k_q

90 m/sLOI0HT DHDDJDAO g UI000IONOmioar
aoail Of 0o opoo 08 ordo ol oo
60 cm N0 O OINOOMNOMoYIINOmICLo
IOnOimoiolmooooomnosE

(1) 180 N (2) 220 N

(3) 270 N (4) 320 N
Qiadnoitioimoben 2.5% OIoCNODOOMGO0O

0B m OOIT00TI00 W OMNODINIOIOTI0I0I000T

O
(1)3.6x10°T 2)28x10°T

3) 136 x 10° T 4)42x10°T
11
8 o

(1) © () n/2

(3) n/4 40

0O000C0000 OIDe0ol ConoIboIOn 000l Ooom;
1 0 T

00000 0o Omom. -

N

30—

s 20—

S 10
0 T

DDD (second)

(1) 60 m (2) 55 m
(3)25m (4) 30 m

OUMHIoO00ooInh.s mys OIUUOOO0D0O
[I00MI0O%0.5 kg UIHIK = 50 N/m OOT0O0DIOE
IiIiiDnOImmitoO U oM Mo oo

(1) 0.5 m

@oism () — mm
(3)0.12 m
@) 1.5

CI:ID\D\D (00000 key Fining 00 OOI00 0000 O0COD I:IUDDDD)
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A coil of inductance 0.20 H is connected in series
with a switch and a cell of emf 1.6 V. The total
resistance of the circuit is 4.0Q2. What is the initial
rate of growth of current when the switch is

closed?
4.0Q
J:-|- 1.6V 0.20 H
(1) 0.050 A s! (2) 0.40 A s
(3) 0.32 A 5! (4)80 A s!

Four particles of equal mass M move along a
circle of radius R under the action of their mutual
gravitational attraction. The speed of each particle

o ]

o 557 o [T

A ball A is thrown up vertically with a speed u

18 -

GM
Ay

and at the same instant another ball B is released
from a height h.At time t, the speed of A relative
to B is :-

(DHu (2) 2u

(3) u-gt @) -0

Figure shows a particle sliding on a frictionless
track which terminates in a straight horizontal
section. If the particle starts slipping from the point
A, how far away from the point Q will the particle
hit the ground ?

19.

4/36

A
D\/ T—?\Z\
m O|.5m
P Q R
(1) 1m 2)05m (3)15m #075m

The M.I. of a thin rod of length ¢ about the
perpendicular axis through its centre is I. The M.1.
of the square structure made by four such rods
about a perpendicular axis to the plane and
through the centre will be :-

(1) 41 (2) 81

3) 121 (4) 161

15.

16.

17.

18.

{0000 o0.20 H OIOIDIODOONO M .6 v I0IOITOO
O0ODODoINUOorooinor 4.0
Hin

QiIooowon? 2

—~

-|- 1.6V 020H

4.0Q

(1) 0.050 A s (2) 0.40 A s-!
(3)0.32 A s 4) 8.0 A s
. 0 0 A
QIOIonftiitiCiCibilr IOOONOIDOIOCNOMOD
Uioimou oo on oo ok

@) 422 {%}

GM
M) 75~

oo o [55]

LOI0iA 000U orCimoRididne OO Om00
IO IINmOmInmoB 00Uy Ooomom

OMO000e 000 A D008 UI0DOIOGE
(D u ) 2u

(3) u-gt @) Jw g0

[OoioiunIbooniUnrorooiomiioooo
R o A A 0
UoritimIA Dioodonooi oo toniom;
Q UIIbouiiooor oioooao

19.

(DIm  (205m (3)15m @075m
2 I 0 N
O A @m0

OO OOT O oooitolbuCp O Or oot a
00l 00 00000000 Dol Qo ototrttr Oor o 0

U0000 Oomo oo -
(1) 41
(3) 121

2) 81
) 161
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When two displacements represented by
y, = a sinot and y, = b coswt are superimposed,
the motion is :-

(1) Not a simple harmonic

(2) Simple harmonic with amplitude a/b

(3) Simple harmonic with amplitude /32 + p2

(a+b)

(4) Simple harmonic with amplitude

What is the equivalent resistance between
A and B ?

A % MW—— " WAN—DB
R 2R R R

R

3R R
=  @2R 3R @ 5

A wire 1s bent in the form of a circular arc with

a straight portion AB Magnetic induction at O
when current I is flowing in the wire, is :-

(D ﬁ(n—eﬂane)
2r

) H—‘)I(Tc+9—t£1n9)
2nr

3) H—OI(TE—G +tan0)
2mr

4) ;—:i(—tan6+n—9)

Air is filled at 60°C in a vessel of open mouth.

The vessel is heated to a temperature T so that

lth part of air escapes. The value of T is :-
4

(1) 80°C  (2) 444°C (3) 333°C (4) 171°C
The period of oscillation of a simple pendulum
of length ¢ suspended from the roof of the vehicle
moves down without friction on an inclined plane
of inclination a., is given by:-

27 ! b1 !

M gcoso 2) gcoso
1 4 1 4

@) 2n\ gcosa @) '\ 2gcosa

20.

21.

22,

23.

24.

D000 OITIND y, = a sinet Uy, = b cosamt
Ologimiioor o i dodoonoor oot
o0 -

(1) 0000 D010
(2) 00D asb OIODOIOOOIOMIOO

(3) 00D /a2 4+ p2 UIOIOIOROIOO] O

@ 0o &2 pnmmoomomon

A B 0I000I0O00DIoODNOoDOag

A Vv MYWW—— WW—DB
R R R R

R

3R R
= @2R 3R @ 5

OO0 OMdUuomiUidooDoititmu AB
OO O0nO0D0mOmeoudomim 1 dUot Qoo
(N00lo DolBooMoiorOnonoms -

(1) ﬁ(Tt—E)+tan9)
2r

) u—‘)I(Tc+9—tan9)
2mr

3) H—OI(Tc—G +tan0)
2mr

4) H—(’I(—tan9+ n—0)
2nr

60°C UIIDI0I00IOT0OlODItonOnrimy o

1
T 0000010001000 000 AT [Zj (nomoInomo

guoinrimooiT

(1) 80°C  (2) 444°C (3) 333°C (4 171°C
o UOOIOIOMO00OI00I000 oD Do omoio
QiofoiooolitodRibomodme DitooOid
Uoo0ooooe:-

21 ! e !
M gcosa ) gcosa
il 1
3 2n\ gcosa @) '\ 2gcosa
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Electric current through the battery is :-

1) 4 A 20
——
2)3A 20 40
| < -
3)2A 40
4v
40A Hi=

A wire is bent into three segments each of radius r.
Each segment is a quadrant of a circle. The first
segment lies in X-Y plane, the second in the
Y-Z plane and third in XZ plane. If a current I flows
in the wire then net magnetic moment of wire is:-

(1) ma’I(i+ ) v
2
@) 2 1d+j+k
4
TCEI2 A o n
3) TI(JH()

) ”72‘21(1+j+f<)

The volume of a metal sphere increases by 0.24%

when its temperature is raised by 40°C. The

coefficient of linear expansion of the metal is :-

(1) 2 x 105 /°C (2) 6 x 1075 /°C

(3) 3.1 x 1075 /°C 4) 1.2 x 1075 /°C

If A, and A, are the wavelengths of the first

members of the Lyman and Paschen series

respectively, then A : A, is :-

MH1r:3 @1:30 3)7:50 (4)7:108

Two non ideal batteries are connected in parallel;

consider the following statements :

(A) The equivalent emf is smaller than either of
the two emfs.

(B) The equivalent internal resistance is smaller
than either of the two internal resistances.

(1) both A and B are correct

(2) A is correct but B is wrong

(3) B is correct but A is wrong

(4) both A and B are wrong

A uniform rod of length 1.0 metre is bent at its

midpoint to make 90° angle. The distance of the

centre of mass from the centre of the rod is :-

(1) 353 cm (2) 25.2 cm

3) 17.7 cm (4) zero

25.

26.

27.

28.

29.

30.

Omroo
()4 A e S
2)3 A 20 4Q
- ] —
3)2A 40
4V
4)0 A Hi=

OO0l OIOmIoToiROOI Ot v drtorwoar
(MOoOTI X~y 0O0Uio0oonD y-z 0Ooaogas
I00OT0Ix~z 00Li0mOinoemId x imoorooo
Qoo imorodioooio Oimosooo. -

(1) ma’I(i+]) v

2
) %I(i+j+k)

3) “7321<3+f<>

4) 7TTaZI({+}+1A<) ‘

OIOI0OIONMI00000.24% UloOOIDOo0OONUmD

[I00040°C OOIDIOMIOMOOI OOnOitToltniono

OO oomo RO ooaz: -

(1) 2 x 1073 /°C (2) 6 x 107 /°C

(3) 3.1 x 1073 /°C 4) 1.2 x 107 /°C

M R A (R W AN NN

O000IA, 000, OM A, : A, 0

H1:3 3)7:50

anoo

O A O

(A) UIIOooTOooiooidoroomiOudimoo
1N

(B) DOONOIDIDOIOlooOr UmUom4o oo
Qaom

(1) U (A) Ullks)y 000

(2) (A) U0LOL (B) 00000

(3) (B) U000 (A) 00000

4) (A) Ulls) 00! 000000

1.0 meter] IO 0O00ON00OIOTNO0OI0000MO0O

L0 T A R O Y M

(2)1:30 (4)7:108

0000 Omoonaond
(1) 35.3 cm (2) 25.2 cm
(3) 17.7 cm 4) U0
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Parallel rays are incident on a thick plano-convex
lens having radius of curvature R, refractive index
p and thickness t. When rays are incident on plane
surface they converge at a distance x from plane
surface when ray are incident on curved surface
Then rays converges at y distance from curved
surface then :-

MHx=y @ x<y

B)x>y (4) Data insufficent
A nuclear reaction along with the masses of the

particles taking part in it is as follows :
A+B—>C+D+QMeV

1002+1004 - 1001+1003+Q

The energy Q l1berated in the reaction is :-

(1) 1.234 MeV (2) 0.931 MeV

(3) 0.465 MeV (4) 1.862 MeV

If the maximum circumference of a sphere is
2 m, then its capacitance in water would be

(approximately):-

(Dielectric constant of water = 81)
(1) 270 pF (2) 2600 pF
(3) 28 pF (4) 2800 pF

A body of mass 2 kg collides with a wall with
speed 50 m/s and rebounds with same speed. If

1
the time of contact was E second, the force

exerted on the wall is—

()4 x10°N 2)2 x 10° N

(3)4 N 4) 2N

A small telescope has an objective of focal length
144 cm and an eye-piece of focal length 6.0 cm. What
is the separation between the objective and the eye
piece lens if final image formed at infinity:-

(1) 150 cm (2) 138 cm

(3) 100 cm (4) 250 cm

A second harmonic has to be generated in a string
of length L stretched between two rigid supports.
The point where the string has to be plucked and
touched are :-

L
(1) plucked at Z and touch at E

L 3L
(2) plucked at Z and touch at 7

L L
(3) plucked at E and touch at E

L 3L
(4) plucked at E and touch at T

31.

32.

33.

34.

35.

36.

T 1 S (R
p L0000 « OM0di0OnooOoo oo Odibooddo
OO A L
Olx D000IOIMODOODO0omO oD tioidoito
IO0OTOmUoOitIoooo y OoooOiodhoo o Om
oo .-
M x=y @) x<y
B)x>y (4) UIUOIO000000m
1 A MO
ooo0oe
A+B—>C+D+Q MeV
1.002 +1. 004 - 1001+1 003+ Q

amu amu

DD_DHD_HDD[DDDDDDDDDDD 1Q UL+
(1) 1.234 MeV (2) 0.931 MeV
(3) 0.465 MeV (4) 1.862 MeV

Ot onfoioromOnooommhnem 0 honooroa

OO0 oo oooboomon

000 Ono0orIdl= 8100

(1) 270 pF (2) 2600 pF

(3) 28 pF (4) 2800 pF

2 kg UIOOOIONOOID000OI0MI tos0 m/s LIIIOIO

D 0 A A )

Qioioooroooo % second UI0IN00I0ITNOIO00 OO
OO0 onoom

(1) 4 x 10° N (2)2 x 10*° N
(3)4N 42N
guotrioroooriitdiompromnyd 144 cm
loroiiooofioniil 6.0 em O
gioiooiDoiooDDtrMoounoioboon m
Q00100 O oot oo Mok, -

(1) 150 cm
(3) 100 cm (4) 250 cm

(000000 Harmonic) LIIITITOIMMIN
0000 Oi0inlOnioon oimordiodimaoon
(mOIRoI Ot omIdnoodnonmoooaodroon
H/INNES

(2) 138 cm

(1) DDDDDD[EDllHl%:DDlDDDH:DDDl

(2) — OI00000TT % 10010001 000l

(3) 7 OI00OoOrT % 10010001 000

el ol N N

(4) — 0DI000000T % 10010001 000l
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Transfer characteristics [(output voltage (V) vs

input voltage (V;)] for a transistor in CE
configuration is as shown in the figure. For using

transistor as a switch, it is used.

Vo

(1) in region II

(2) in region I

(3) in region III

(4) both in region (I) & (III)

A wire in the form of a circular loop of radius r lies
with its plane normal to a magnetic field B. If the
wire is pulled to take a square shape in the same plane
in time t, the emf induced in the loop is given by:-

nBr? b nBr? b
(m t(l‘ﬁj @ t(l‘g)

nBr? T 7Br? T
o T(g) @B

Two exactly similar wires of steel and copper are

stretched by equal forces. If the difference in their
elongations is 0.5 cm, the elongation (/) of each
wire is :-

Y, (steel) = 2.0 x 101! N/m?2

Y, (copper) = 1.2 x 101! N/m?

1) ,=075cm, [, =1.25 cm
2)l,=125cm, [, =0.75 cm
3)1,=025cm, [, =0.75 cm

@) 1,=0.75cm, [, = 0.25 cm

A closed organ pipe and an open organ pipe of
same length produce 2 beats/second while
vibrating in their fundamental modes. The length
of the open organ pipe is halved and that of closed
pipe is doubled. Then, the number of beats
produced per second while vibrating in the

fundamental mode is :-

12 (2) 6 3)8 @7

3

38.

39.

40.

N

IOooriiioitiicE IMoUmHoioIOmoom
[(000NDO0T v o DIIo00rOTootev,y Dmidn ool
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vy gl -l Al

(H) Ui O

(2) 0l 0

(3) 000 O

(4) 00 00000 (o OiOg

(IO OO O monOoIoom
0
0 O
(It OOOIODOUOImT 000 o fod0oom] fiodioonie:

nBr? T 7Br? T
M t(l‘ﬁj @ t(l‘g)

nBr? T nBr? T
O IR =

] O A A )
JOOMmonooIonoiriniborgIfnie.s 0o
0] ) UL :-

[Y, (0I0) = 2.0 x 101t 100000100

Y. ) = 1.2 x 101 10/02]

(1) 1,=0.75 000, 7, = 1.25 OO

) 1,= 125000 7, = 0.75 OO

(3)1,=0.25 000, 7, = 0.75 OO

@) 1,=0.75 000, 7, = 0.25 O
OOl DU
JOr0oroonoronobiiditiobomogoa
281 L
0 1 o o O A
IMIooiommoroinbiroboltitioLonnmin

[DO00TDOo0n .-
12 2)6

3)8 @7

(Use stop, look and go method in reading the questio@
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Cl Cl
41. O +AgCN ——> A [Major] ? 41. O +AgCN —— A [000] 2
NH NC NH NC
(1 O (2) © (1 O (2) ©
(3) HCOOH (4) 1 and 3 both (3) HCOOH 4 100 3 I
42.  Which compound does not show mutarotation? | 42.  OIMIOIIL ?
CH,-OH CH,-OH
H O H H O H
O Non H O Non H
O OH 0] OH
H OH H OH
CH, OH CH,-OH
OH H O OH
(2) 2 OH H
(0) H
H OH
O—CH, on_~9~_ o-cH,
(3) (3
1/CH,-OH H\oy  1/CH,OH
H OH
(4) None of these (4) U000
43. Correct K value of alkaline earth sulphate :- | 43. D[:D:DUDDJUDDDD:D:KSP gaIonoonooioe:
(1) BaSO, > StSO, > CaSO, (1) BaSO, > SrSO, > CaSO,
(2) S1S0, > CaSO, > BaSO, (2) S1SO, > CaSO, > B,SO,
(3) BaSO, > CaSO, > SrSO, (3) BaSO, > CaSO, > SrSO,
(4) CaSO, > SrSO, > BaSO, (4) CaSO, > SrSO, > BaSO,
44. Calculate the volume of NH5(g) produced at STP | 44. 3 x 103 O0IN,(g) OI0I0I6 OI0IH,(g) OO
when 3 x 10** molecules of N»(g) are mixed with {00 0000mIs TP O0INH;(g) UIOD0OI0M0
6g of Hy(g) in the reaction mlil
Nale) + HolSggpHae) Na(@) + Ha() - NHy(®)
(1)22.4 litre (2) 11.2 litre (1)22.4 litre (2) 11.2 litre
(3)44.8 litre (4) None (3)44.8 litre (4) 0000
45. Which is minimum basic :- 45. [DO00
(1) CH,=CH - NH, (2) CH, = NH () CH,=CH - NH, () CcH, = N1
(3)CH,-C=N (4) CH,-CH,-NH, (@CH—CEN (4) CH,—CH,-NH,

9/36
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Phenelzme and Iproniazid are :-
(1) Antidepressants

(2) Tranquilizer

(3) both (1) and (2)

(4) Antibiotic

The complex ion

[Pt (NO,) (Py) (NH;) (NH,OH)]* will give :-
(1) 4 Isomers (Geometrical)

(2) 2 Isomers (Geometrical)

(3) 3 Isomers (Geometrical)

(4) 6 Isomers (Geometrical)

At 627°C and 1 atm SO, is partially dissociated
into SO, and O, by :-
N 1
SO3( )Y SOZ(g) 2 OZ(g)

The density of the equilibrium mixture is
0.925 g/L.. What is the degree of dissociation.

(1) 40.20% (2) 34.12%

(3) 57.32% @) 21.11%
HoL o o

O'_‘\/ SR >B+C?

ey

+Et-OH ) + Et-1

+ Et-OH + Et-1

Ot sk
OH

oJ < marn

L-Glucose —> ?

Number of formic acid obtained in this reaction:-
(12 (2)3 (3)4 )5

In Fe(CO),, the Fe-C bond possesses :-

(1) Tonic character

(2) only o character

(3) m character only

(4) o & m character
The potential energy of € in a particular shell of
H-atom is —3.02 eV. The calculate the radius of
that particular shell :-
(1) 4.761A
(3) 2.166A

(2) 8.464A
(4) Can not predict

46.

47.

48.

49.

50.

51.

52.

Phenelzine Ul Iproniazid [
(1) Antidepressants
(2) Tranquilizer
(3) (1) Ull(2) UL
(4) Antibiotic
000000 Pe (NO,) (Py) (NH,) (NH,OH)]* oot
1R
(1) 4 00000 QOD0O7y
(2) 2 00000 @OD00n
(3) 3 U000 (DIUOn
(4) 6 OUIOODIT @ODOONy
627°C U 1 atm 00 SO, OIIOIONIO so, 0 o, O
[DONOO000NOLE
1

SO3(g) = SOZ(g) 2 OZ(g)
dioiONoiimuOonOningio.925 g/ LIl
(00 0000 0o oonn
(1) 40.20%
3) 57.32%

(2) 34.12%
4) 21.11%

®

H
Et-OH

+ECOH (5 O—K

AL 09

P

+ Et-1

~
—
~

%Q

3) + Et-1

+Et-OH )

Laoom—20s

I}
12 23 (3) 4 GO
Fe(CO), UlFe-C UIIIOMIOLE

(1) Ol0iooi oo

(2) UlUle 001

(3) U000~ DO

4) o Uz OO

H 00 Onooidiiiomiles OOOMDOOO]
—3.02 ev UIIT
(1) 4.761A

(3) 2.166A

(2) 8.464A
4) ioroeooo
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53. @+CH3CH2C1 AL A 2L
V

54.

5S.

56.

ALL INDIA OPEN TEST/Pre-Medical /AIIMS

aq. KOH

>C?

C-CH, CH = CH,
Mo

CH,- CH,

CH-CH,
) @) @/(I)H O

OH

(HI—NHZ
O

(1) Ph—NH—ﬁ—Ph

i
NaOBr >A Ph—C—OEt, 9

2) Ph—ﬁ—NH—CHZ—Ph
3) Ph—ﬁ—NH—ﬁ—Ph

(4) Ph— NH —ﬁ OEt

Complex Properties
(a) [Co(H,0)I* (P) d’p’
(b) [CoF,]* (Q) sp’d?

(©) [Co(NO,)I*-
(d) [Co(C,0,),

(R) Diamagnetic

(S) Paramagnetic

(T) Oxidation state of
central atom is +3

Correct match is :-

(1) a_P’RyT 5 b_Q7S7T 5
(2) a_Q’S’T 5 b_stsT 5
(3) a-P,S,T ; b-Q,S,T ; c-P,R, T ; d-Q,R,T

4) a-Q,S,T ; b-P,R, T ; c-Q,S,T ; d-Q,R,T
Which set of quantum numbers are not possible :-

c-P.R, T ; d-P,R, T
c-P,R, T ; d-Q,R, T

n|l|{m]| s

M 13(2]0 |+=

2
ol212]1 |+L
2
@|1lo]o|-L
2

@|[3]2]-2]+=

53.

54.

SS.

56.

@+CH CH, 1A, c12 pJ0D KoH,

C-CH, CH = CH,
Yo

CH,- CH,

CH-CH,
) @) @/(I)H O

OH

O

_NH [l
@/ﬁ ®  NaOBr., Ph-C-OEt
O /A 7 .

(1) Ph—NH—ﬁ—Ph

) Ph—ﬁ—NH—CHZ—Ph
3) Ph—ﬁ—NH—(”D—Ph

(4) Ph— NH —ﬁ OEt

000 Wi
(@) [Co(H,0)** (P) d’sp’
(b) [CoFJ* (Q sp'd’

(R) L0LCOOM

(S) toonom

(T) Oi0oIooomo o
D0 DOm+3 00

(¢) [Co(NO,) I~
(d) [Co(C,0,),

Ouiooonont

(1) a-P,R, T ; b-Q,S,T ;
(2) a-Q,S,T ; b-Q,S,T ;
(3) a-P,S,T ; b-Q,S,T ; ¢-P,R, T ; d-Q,R,T

4) a-Q,S,T ; b-P,R, T ; c-Q,S,T ; d-Q,R,T
[HinDiinDoiiooOUoUIdmrootroninoe

c-P,R, T ; d-P,R, T
c-P,R,T ; d-Q,R,T

n|{l|m]| s

M 13(2]0 |+=

2
ol2]2]1 |+L
2
@1]o]o|-L
2

@ |13(2|-2|+=
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58.

59.

60.

61.

12/36
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OH
ﬁ—OHJr CHrﬁ—OH ? Major product

O
OH O—g—CH3
C-O0-C—CH, COOH
(1) @g I
OH i
C-C-C
o)

Select correct option about Uuh element :-
(1) Period number = 7
(2) Group number = 16
(3) It is p-block element
(4) All of these
Compound

(A) Liquid bromine

(B) Noble gas clathrate
(C) H,0 + NaCl

Type of bond

(P) Hydrogen Bond

(Q) Ion-dipole force

(R) London dispersion
force

(S) Dipole-Induced
dipole interaction

(D) Liquid CH,NH,

Correct match is :-

() A-R ; B-Q; C-Q ; D-P

(2) A-R ; B-S ; C-Q ; D-P

(3) A-Q;B-S; C-Q; D-P

(4) A-R ; B-R; C-Q; D-P

AB;+C"” > C”+ A"

If the O.N. of B is —2. Choose the true statement

for the above change :-

(1) O.N. of A decreases by =5

(2) O.N. of C decreases by +1

(3) O.N. of A decreases by +5 and that of C
increases by +1

(4) O.N. of A decreases by +5 and that of C
decreases by +1

Phenol and ethyl alcohol can be differentiated by

except ?

(1) Br, / H,O

(3) 1, / NaOH

(2) Neutral FeCl,
(4) Na

57.

58.

59.

60.

61.

OH
ﬁ—OHJr CHs—ﬁ—OH e gooooiom

i
OH 0-C—CH,
C-0-C-CH, COOH
() 5@
OH i
C—-C—CH, C\
1
) @/0 0 ) @[C/ ©
Il
0

0i0luwen OIICOIOMONDOOCIONOOOONOAT.-
(1) 000000 = 7

(2) OOIO0O0OL= 16

(3) DOlp-0DOIOOInIoO

(4) 000007007
il

(A) 0000000

(B) UUOIOM clathrate
(C) H,0 + NaCl

(D) DOICH,NH,

(P) 000010
(Q) Liiioinroino
(R) Ul00IOO0oIIog

(S) li0Dooro
1000000an Diomm

[

(I) A-R ; B-Q; C-Q ; D-P

(2) AR ;B-S; C-Q; D-P

(3) A-Q;B-S; C-Q; D-P

(4) AR ;BR;C-Q;D-P
I0DO0DIOIIO0I0MAB, + C* — CP + A®
01000000000IN0O00NE B ONOOOIO0ONDO0I -2
O0On0Io Dool O o

(1) A 0000000000 -5 Doowoo

(2) ¢ 0IO00ID0In00on +1 moonod

(3) A OI0O00I000N 0000 45 DoO0OMDOc Of

QoooIooon +1 000000

(4 A DTHI00IN00TO00! +5 D000N0OODMC O
Qo0 oon +1 mogmod

IR
Jrogonoe

(1) Br, / H,0
(3) I, / NaOH

(2) DI HIFeCl,
(4) Na

( 100m 0000000000 001 000000 )
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64.

65.

66.

67.

68.
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The correct order of Ionic mobility :-
(1) K(aq > Na(aq (2) Ll(aq Na?ﬂq)
(3) Be, >Mgy, (4 Al

BeF, ————>A——

(1mole) (Imole)

>B in given reaction,

1 mole

hybridisation of 'Be' in species 'B' :-

(1) sp (2) sp®
3) sp’ 4) spid
Which of the following gas has highest critical
temperature :-
(1) He(g) (2) Ne(g)
(3) Ny(g) (4) SO,(2)
CH,- CH,
KMnO, A SOCl, Pd/BaSO,
HY/A H,/A

CHO CH,-OH

(D (2)
(l)H

COCl CH-CI
3) “)
NH; + Cl, ey — X + Y,
X &Y are :-
(1) NCI,, NH,Cl (2) NCl,, N
(3) N,, HC1 (4) NCl,, HCI
Which of the following molecule does not exist:-
(1) PH, (2) NH,
(3) SH, (4) PH,

Arrange the following electrolytes in increasing
order of coagulation power of As,S, sol :-
A, A, A,
K,SO, CaCl, AlCI,
(DA <A, <A 2)A;> A > A,
3) A, <A, <A (4) None of these

62.

63.

64.

65.

66.

67.

68.

oo oruorooroee

> Na’

(aq)

(1) K(aq > Na(aq (2) Ll(aq

(3) Be(y, > Mg, (@) 001

BeF, ——— A—— B IINII0N00m

(1mole) (Imole)

1 mole

(0III0IB UlBe' UIOOIINILH

(1) sp @ sp?
() sp’ @) spd
10000 00 00 (000 0O e Omooo oo goont
gom:-
(1) He(g) (2) Ne(g)
(3) Ny(2) 4) SO,(g)
CH,— CH,
KMnO,  SOCl,_ Pd/Baso,
HA - H/A ~
CHO CH,-OH
(1) 2)
(l)H
COCl1 CH-CI
(3) 4)
NH; + Cl, oy —> X+ Y,
X Oy OCk
(1) NCI,, NH,CI (2) NCI,, N
3) Nz’ HCl 4 NC13, HCI
100000000 Ol oo Qoo oo oUom Ord
(1) PH, @ NI,
(3) SH, 4) PH,

[HI0TOD0I00000I0aL As,s, OIOIOMO00ONOOIA
Qo ooItlioonoo troar. -
A, A, A,
K,S0,  CaCl, AlCI,
(DA <A <A, Q) A, > A, > A,
B3) A, <A, <A, (4) 0OIOI 00O
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69. Which is aromatic ?

(1) m ) KE
N SN,
S me
OF @l I

NH N

70.  Copper reacts with dilute nitric acid to give :-
(1) NO, (2) NO (3) N,O (4) N,
71. How many products can be common product
when XeF, react with H,O and XeF, react with
H,O :-
(1) Zero (2) One 3) Two (4) Three
72.  Standard entropy of X,, Y, and XY are 60, 40
and 50 JK-!mol-!. For the reaction,

1 3
EXQ +§Y2 — XY, , If AH = -30 KJ, to be at

equilibrium, the temperature will be :-
(1) 1250 K (2) 500 K
(3) 750 K (4) 1000 K

73. In which reaction N, is not evolved ?

NaOH
(1) CH,— CH, - C — NH, —29H
Il Br,
O A
CH,-NH, 1no
2) —
A

(3) CH,—~ CH=CH, + CH,N, —>

(4) CH,— CH, — CHO + NH, - NH, —Of

74. How many alkali metals on reaction with excess
O, to give superoxide : Li, Na, K, Rb, Cs
(1) 4 2)5 3)3 “4) 2

75. The reaction A(g) - B(g) +2C(g) is a first order
reaction with rate constant 2.772 x 107%s7",
Starting with 0.1 mole of A in 2 litre vessel, find
the concentration of A after 250 sec when the
reaction is allowed to take place at constant
pressure at 300 K :-

(1)0.0125 M (2) 0.025 M
(3)0.05 M (4) none of these

69.

70.

71.

72.

73.

74.

75.

gimoa ?

(1) m ) Ki
N SN,
S me
OF @l I

NH™ N
Qoo poIDooIoiitionmoorom oo e
(h)NO, (@NO  ()N,O (4N,
OOI0OIHonCronorooixer,, OOMUIODNO0?
Uo0iOmoZixer, OO1O0ODNICON O0ODOL:;

Ol @00 @ @) 0
X5, Y, Uil xy, OIIODO00IOIA@N DoonNl 000
60, 40 0l 50 JK'mol-! 0

1x, +%Y2 XY, , AH = -30 KJ, Q1000070

2
Ooooooo oo .-
(1) 1250 K (2) 500 K
(3) 750 K (4) 1000 K
OiMmmom N, D000ooonoe
(1) CH,- CH, - ﬁ —~NH, %
A
CH,~NH, v

o

A

(3) CH,—- CH=CH, + CH,N, —>

(4) CH,— CH, — CHO + NH, - NH, —OH

[Do0oDOrIoioniiOImotdio, Diomon:
OO0 DINONOC 0N LA, Na, K, Rb, Cs
14 @5 33 “ 2
UIIIOOTA(g) — B(g) + 2C(g) DOIDIOIONIO
giomnnbirimiooIganomonnanroo
2.772 x 107 0000 0.1 010 A 000 2 4000
0Doomoomotonikzse 0OOMOoON
A DI0I0I oMo oriirlBoo K
(010mooman .-

(1)0.0125 M (2) 0.025 M
(3) 0.05 M (4) DO0IO0DmIOO

14/36 .
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78.

79.
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10 mL of HNO3 of unknown concentration

N
neutralizes 1 mL of E KOH solution. If 10 mL

of HCI solution is diluted to 100 mL, its pH will
be :-

(1) 2 2)3 3) 4 45
When phenol reacts with formaldehyde in
presence of acid then obtained polymer is ?
(2) Bakelite

(4) Teflon

(1) Neoprin

(3) Dacron
Incorrect match :-
() Mg,C, + HO — CH,
(2) CaC, + H,O —> CH,
(3) ALC, + HO —> CH,
(4) Be,C + H O — CH,
Consider the given data :-

Standard reduction

Half cell reaction potential E° (volts)

(a)

Cr,0,2+ 14H" + 6¢

= 2Cr* + TH,0 133

(b)

Cr'+3e=Cr —0.74

(c)

Cut+te==Cu 0.52

(d)

Cu*+2e=2Cu 0.34

80.

The numerical value of the standard cell potential

for the reaction :

2Cr (s) + 3Cu** (aq) = 2Cr’* (aq) + 3Cu (s)
(1)-1.08 V (2)-040 V
3)+1.08V 4) +250V

Which of the following statement is incorrect?

(1) A bimolecular elementary reaction must be
a second order reaction.

(2) A second order reaction must be a bimolecular
elementary reaction.

(3) Zero order reaction must be a complex reaction.

(4) First order reaction may be a complex reaction
or elementary reaction.

76.

77.

78.

79.

goioinioonoioraNo, 00000010 mLL

% KOH U1 mL UZHOOOIHIOIIINOTE Her O

10 mL (000000000000 100 mL 0OCOODOE
DO otooiooiinobo ol ey UIOM:-
12 @3 (3) 4 (G
[O0OIOIOoInICnorbiti0ooopoiond
Ooiifotiooooiooonie
(1) 000

(3) 00
QOOnoOnioTE

(1) Mg,C, + H,0 —> C,H,
(2) CaC, + H,0 —> C,H,
(3) ALC, + H,O —> CH,
(4) Be,C + H,0 —> CH,
[DI0IOIUOmOniNOmmdg .-

(2) OO0
(4) 100D

elud vip;u

v/k by viHf@;k fohio E° ( okYV)

(a)

Cr,0,2+ 14H" + 6¢

= 2Cr* + 7H,0 1.33

(b)

Cr’* +3e = Cr -0.74

(c)

Cu+te=Cu 0.52

(d)

Cu> +2e = Cu 0.34

80.

ool OonoOIortoditdinoonnon g

2Cr (s) + 3Cu** (aq) = 2Cr’* (aq) + 3Cu (s)

(1) - 1.08 V (2) - 0.40 V

3)+1.08V 4)+250V

HooroiolOimrDroroomniio

(1) DOMDDO0ObOi0rrooridnondno
gonoonourom

(2) I0IH0OIIDorodhdniriomoa
gnooroorom

(3) DIOIOI0I 0o o oool Onroor oo Do

(4) DO ODIO0UOmolOriodItrimoa
Qioonorooonid

C 00000 00000 DOO0 0000 0000 Conoo Qi onoo doooo )
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How many plants in the list given below are
polycarpic.

Wheat, Rice, Maize, Bamboo, Mango, Litchi,
Guava, Lemon, Oranges.

(1) Six
(3) Four

(2) Three
(4) Five

According to R.H. Whittaker unicellular
eukaryotes are the members of kingdom:-

(1) Monera

(3) Animalia

Match the column.
Column A

(i) RNA

(ii) DNA

(iii)Protein

(iv)Enzyme

(1) i-d, ii-a, iii-d, iv-b

(2) i-c, ii-a, iii-b, iv-d

(3) i-c, ii-a, iii-d, iv-b

(4) i-a, ii-c, iii-b, iv-d

(2) Protista
(4) Fungi

Column B

(a) Deoxyribose sugar
(b) Tripsin

(c) Ribose sugar

(d) Amino acid

First tool making ancestor was :-

(1) Homo habilis
(2) Homo erectus
(3) Homo sapiens

(4) Australo pithecus

Which one of the following is resistant to enzyme

action ?

(1) Pollen exine
(2) Leaf cuticle
(3) Cork

(4) Wood fibre

Which of the following is incorrect match ?

(1) Physalia — portuguese man of war

(2) Meandrina — Stanhorn coral

(3) Gorgonia — Sea fan

(4) Pennatula — sea pen

If a cell have 20 chromosome and 2C DNA content

in G, phase. So how many chromosome number

and DNA content is found in G, phase :-

(1) 40 and 4C
(3) 20 and 4C

(2) 20 and 2C
(4) 40 and 2C

81.

82.

83.

84.

85.

86.

87.

QIof0T0oooToIonOoohooibotoor o
OoinoinUnonomoibnomnbmroooonoon
0o

(1) 01
3) Ul

(2) 00
4 00

goorooiiaodooorooOmomiomro o,

[0otoooDooo0orim

(1) OO (2) LI00Tt
(3) 00l0IOd1 4) O0L
goiooronoo

aiog A aioo B
(i) RNA () UIO0OMNROIOmOn
(ii) DNA (b) 000000
@ii) 0000 (c) UIDODRC ootamn
av)l000 (d) Ot oo

(1) i-d, ii-a, iii-d, iv-b
(2) i-c, ii-a, iii-b, iv-d
3) i-c, ii-a, iii-d, iv-b
(4) i-a, ii-c, iii-b, iv-d
00000 O oo

(1) oo

(2) diODooooad

(3) L0 O00d

(4) Ull0OI0oOO

NI OOIINOmominiinorirtirono

Q0000000 ooon Orm

(») DIonOrooOo
) IrOnonmooa
3) Ul

(4) O0naooon

[mooooldnommionnrooo;

(1) 00O -

Q00DN00oO

(2) 00700 - DoooioI o

(3) 0DOT00I -
(4) 0000

000roon
- 0o ogo

Qlol0oIanoorg ¢, Dioomo 20 OOOOIO

2C DNA [ G, U000 0I00L DNA
[oouoone .-

(1) 40 U 4C (22002C
(3)2004C 440 02C

(‘© noom oooooo oo )
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90.

91.

92.

93.
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Match the following viral diseases with their
specifications?

(A) (B)
(i) |Rabies |[(a)
(i) |Mumps |[(b)

Earache

Hydrophobia

(iii) |Dengue |(c)
(iv) |Measles |(d) |Breakbone fever
@ ) (i) (iv)

() b a d c

2) a b C d

3) b C d a

4 d C b a

Twisted type aestivation is found in which family.
(2) Malvaceae

(4) Compositae

Koplik spots

(1) Solanaceae
(3) Cruciferae

Mollusca is differentiated from other by :-
(1) Bilateral symmetry and external skeleton

(2) Mantele and gills
(3) Shell and segmented body
(4) Mantle and unsegmented only

Given pedgree shows inheritance of autosomal
rcessive gene. The genotype of given parent :-

o

A B

~

(1) AA, aa (2) aa, AA

(3) aa, Aa (4) Aa, Aa

Trypsin and pepsin is secreted respectively by :-
(1) Duodenum, Stomach

(2) Pancreas, Stomach

(3) Ileum, Pancrease

(4) Stomach, Pancreas

Vascular bundle is enclosed within a well
developed sclerenchymatous sheath in :-

(1) Monocot stem
(3) Dicot root

(2) Dicot stem
(4) Monocot root
Ammocoete carva is of :-

(1) Myxine
(3) Agnatha

(2) Petromyzon
(4) Cephalochordata

88.

89.

90.

91.

92.

93.

9.

(OooiOIomIomor OiooImor to ootnoomono
[Doroom

(A) (B)
(i) (0O (a) |Earache
(i) (000 (b) |Hydrophobia
(iii) (OO (¢) |Koplik spots
(iv) |0 (Measle) |(d) |Breakbone fever

@i G (i) (@[iv)

() b a d C
2) a b C d
3) b C d a
4 d C b a
000 A
(1) 0001 (2) LU
(3) L0 (4) Ol0DO0

0 Y A W WA
[Ofrorotonea

(1) IDODCIODIodDiOoo 0o

(2) L00O000000

(3) O00O0IDIODOIOIeDo

(4) A000i0I00EODI oD

I D A
OO0 oo bol Jmo 0T Coonooloom o .-
o
A B

~—

(1) AA, aa (2) aa, AA

(3) aa, Aa (4) Aa, Aa

OO0l UMUIoo0 O DO0r O om0t Om:-

(1) 000, U0

(2) U0, O0mo

(3) Ul0id, togia

(4) 000, Olmo
(IIOOdIDDIOMODoiDomOUOoooOUdo
0000

(1) 0000IODONom (2) [00M0d0mon
(3) [0OuoIoo (4) 000000000
[Hoooon oo oo odtr Do ooy
(1) (00000 (2) I0oom

(3) 0i0Q (4) [00ma
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Wthh cell orgenallae is double membrane bounde :-
(1) Lysosome (2) Ribosome

(3) Vacoule (4) Mitochondria
Given below is a sigmoid curve for
oxyhemoglobin dissociation :-

k)
=Xe) (A)
2 g B
)
~— 0
E
X

30 50 i

PO,

Which of the following factor favour for shifting
of curve (B) —> (A)

(1) low PO,, less H* concentration, less
temperature

(2) High PO,, less H* concentration, less
temperature

(3) Low PO,, more H" cencentration, more
temperature

(4) High PO,, more H* concentration, less
temperature

During menstrual cycle which hormone attains

two peaks?

(1) FSH (2) LH

(3) Progesterone (4) Estrogen

Supportive connective tissue means :-

(1) Tendon and ligament

(2) Blood & lymph

(3) Adipose and areolar tissue

(4) Bone & Cartilage

Plastids present in plant roots are known as :-

(1) chloroplast (2) chromoplast

(3) Leucoplast (4) all of these

Give one word for the following and choose the

correct option :-

(i) The organisms that can tolerate a wide range
of temperature __ A

(i1) Nature and properties of soil dependent on the
climate and __B __ process, transported or
sedimentary and how soil development occur.

(1) A - stenothermal, B — weathering

(2) A - eurythermal, B — physiological

(3) A — stenothermal, B — weathering

(4) A — eurythermal, B — weathering

95.

96.

97.

98.

99.

100.

DHI]J]]HDD[H
(1) D'DD (2) oo
31 DDD (4) 000IOmooal

N O A R
OO0
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(B)

50%

HIoomnonooo

30 50
PO,

O OrNOrioiOimimrIbale) Ora) O
Q0O000onoec dtlooontm

(1) O0ipo,, U0 H* 0010000, Doi0o

(2) OIli0 po,, UL B 0NT0O000, DOiOo
(3) OO po,, O H* LNIOI00T DOno
4 Oi0lro,, OO B+ OIOIO0) OO00O
Qi

N A

UOono
(1) FSH (2) LH
(3) 0lO00MD (4) 00000

0o0oonononooIonmo -

(1) O00mIo0omd

(2) 000100 Oon:

(3) DOMioooomirdo

(4) Ol0Io1oamom

0mman

(1 000ood (2) U0Idoag
(3) Uoomood (4) OIZ
[Hooioiorariooriooioonnroo -

() 00OIoOoOoonnommiodnoio
oA

(i) DOIOIDONOIDITo0OnmT _ s 0ol
(oo OboUIomiodnoUoDmodnoo
Ooionrononriorio

(1) A - 000G B - 000D

(2) A - 0IIO, B - 0700

(3) A - 00U, B - 000D

4) A - 0IIO0L B - 0000
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103.
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Choose the correct combination from the
following hormones and their functions :-

Releated from

(A) [ GnRH () hypothalamus

Stimulate sertoli cells
to release some factors
which help in
spermiogenesis

B) |ABP |qii)

Promote diffusion of

(C) |ICSH |[(ii) | testosterone in
seminiferous tubules
Stimulate leyding's

D) |FSH (iv) | cells to synthesize and

release testosterone

(A) (B) © (D)
M @ (iii) (iv) (ii)
@ ® (i) (iii) (iv)
G) | G (iv) (iii) (i)
@ [ Gv) (i) (i) (iii)

Which of the following is correctly stated as

happen in the common cockroach ?

(1) The food is ground by mandibles and gizzard

(2) Malpighian tubules are excretory organ
projecting out from colon

(3) Oxygen is transported by haemoglobin in
blood

(4) Nitrogenous excretory product is urea

How many FADH, molecule formed when 5

puruvate will complete oxidized :-

(1) 10 2)5 31 4) 2

"To meet with the deficit which occurs due to

imblance in the rate of influx and efflux" is the

function of :-

(1) Biosphere (2) Reservoire

(3) Solar energy (4) Species diversity

101.

102.

103.

104.

HoooiOmonioOmUorioorodio
Qoouoomoo

(A) |GnRH |() | 0000007000000

A A

| comommnm oo o
(B) |ABP () | inmomooooomooonoo
e 1
| ooomomm mmooon
(C) |ICSH |(iii)

1 A A

0 L

D) |FSH (iv) | DOOIOIOOICnCO0O0m 0o

(OOOnCoiomol Ooomom

(A) (B) © (D)
M @ (iii) (iv) (i)
@ | @ (i) (iii) (iv)
G) [ i) (iv) (iii) (1)
@ [ @) (i) (M) (ii)

1000010 oooioinnuiiioooiroroooeo
ouitoe?
(1) II000Oroo0r oMo oor Oer et
(2) U0
nooorong
(3) M0 O0OOm OO OO OO0 O
Il
(4 UDo0nOiDOnoom Do Dt et
U0 s D0D000DIIDoDoirnoIrooit FADH
Qi000oan .-
(1) 10 2)5 3) 1 ) 2
08T M
QI O0IOnoroonigromoioooroek
(1) UImoon (2) D00
(3) UMOE (4) UI001000000

2

( L0000 DiC 00 Do 0o DOicoo Do dondo aoeg )
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105. Identlfy A, B, C and D in the given figure and

choose the correct option.

A B C D

(1) | Sertoli cells f;rfna;ymyte Spermatid ss;:r?;]:;rcyyte
(2) | Spermatozoa Spermatogonium | Sertoli cells :;mocyte
(3) | Spermatid Sertoli cells Spermatogonium SS;;(;E:; IZ yie
(4) | Spermatogonium | Spermatozoa Sertoli cells Epimoc yte

106. If one parent has blood group A and the other
parent has blood group B. The offsprings have
which blood group ?

(1) AB only (2) O only

(3) B only (4) A,B, AB, O

107. Which of the following plant growth regulator

present in gaseous form :-
(1) Auxin (2) Gibberelin
(3) ABA (4) ethylene

108. Under certain conditions soil nutrients get tied up

with the biomass of microbs and becomes
temporarily unavailable to other organism such
incorporation of nutrients is called —

(1) Nutrient immobilisation
(2) Acclimatisation

(3) Mineralisation

(4) Nutrient conservation

109. In homoporous pteridophytes, gametophyte is:-

(1) Prothallus,
inconspicuous & small

Always photosynthetic,

(2) Thallus, usually photosynthetic, conspicuous
& large

(3) Prothallus,
inconspicuous & small

(4) Prothallus,
conspicuous & small

usually photosynthetic,

always photosynthetic,

105.

106.

107.

108.

109.

0UID0NC0IONA, B, ¢ UMD OI000rioi0mmo
[DOoOoioooo

"

A [ [ [
O omo | poommo: | oo OO
- AT
@ (THE T0000 A vy | oo
OO | oo oono
®op oo | PO o

| {oom |omoo
O L N 7 | sl
O A A =N L
[l B 0
{oan 2
(1) O00IAB 2) 00010
(3) 000 B (4) A, B, AB, O

D OmhooroIotro DD iooo
Joroc:

(1) 07000 (2) [000T40O

(3) 0100 (4) 00040
(rOIdoimol oo omaininoooUn Ol omD
i i
OO Irooinoirono
QiororooomIo

(1) IIoroooon

(2) UIIoooo

(3) Dlom

(4) UII01 0000
Hinn

(1) UITOD, 000000 oodoI, dodotooor oo
(2) I, 000IIDOImO000T, 0otoo oorban

(3) DI, 000rbOimoodoT, dodioouarom
(4) 0D, 000IMDOMmO000I, ooodobonm
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110. Which technique is used to check the progression

of restriction enzyme digestion ?

(1) PCR
(3) Southern Blotting

(2) Gel electrophoresis
(4) Staining

110. UMITOO0
[ooiooooronroe
(1) PCR
(3) 0Oonoomod

(2) UM
(4) 00000

111. [I0OI0OOIOIOIoOIOonooe:
(1) K+ [0000 (2) D00 00000
(3) 0io0Iorood (4) 0I0O0T

112. JOI000O0I0I0O0OmoT0 D

[OoIoIbOnoorn

T

111. Modern theory of stomatal opening is :-
(1) K* exchange (2) Sugar transport
(3) Acid transport (4) Osmosis
112. Given below is the D
diagrammatic sketch of T
certain type of
scrubber.Identify the
arrows labelled A,B,C =
and D and select the
right option about
them;:- A
w B
Option :- .T
A B C D
1 E?;tti;:rulate Dirty Air :Zf;:,r/lime Clean Air
2 | Water/lime spray rP;ii;tttiecrulate Dirty Air Clean Air
3 | Dirty Air IP;?;tttiecrulate ;;]f;;ir/hme Clean Air
4| Dirty Air ;glf;t;r/hme Pma:::;:rlllate ilit:an

113. Match the column A with column B :-

Column -A Column-B

A] o-Granules |(i) | Phosphate polymer

B| B-Granules (ii) [ fat droplets

C| Voletine (ii1) | Cyanophycean
granules starch

D| Glycogen (iv) | Carbohydrate
granules

(1) A-i, B-ii, C-iii, D-iv
(2) A-iii, B-ii, C-i, D-iv
(3) A-ii, B-i, C-iv, D-iii
(4) A-i, B-iii, C-iv, D-ii

Hi0ioOioonorya
JMOo0CAB,c I D

OI0IOOIInoIoouonoy
L ERCH 0

S

o0 -
A—
B
I00000:- W—f
A B C D
oo |
I
| oomone fommen | | no
OO/ODOY. | oo .
2| ot o |ommon | noon
omo |oooo |
) (21 O e s i
/o0 oo |
P [avimivi O e e i

113. 00 A D000 B LI0IMI00OIODOY -

dkye -A dkye-B
Al -0 () | 0D0O0oooo
Blg-0m (i) | 000IooC
Cc| D00oioioO | aiiy | DO0IOMDIO0ON000E
D| 10000100 (iv) | OI001000

aa

(1) A-i, B-ii, C-iii, D-iv
(2) A-iii, B-ii, C-1, D-iv
(3) A-ii, B-i, C-iv, D-iii
(4) A-i, B-iii, C-iv, D-ii
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114. Tick the correct statement about hnRNA and

115.

116.

117.

118.

119.

22/36

mRNA :-

(1) hnRNA having exons

(2) mRNA having capping and introns

(3) both have tail

(4) mRNA have capping and tailing

Which is a C, plant :-

(1) Wheat

(2) Potato

(3) Sunflower

(4) Maize

Which among the following is real product of

Honey Bee ?

(1) Honey

(2) Pollen

(3) Bee wax

(4) Propolis

Which taxonomic category was made on the basis

of nucleic acid sequence:-

(1) Kingdom

(2) Domain

(3) Species

(4) Order

Which criteria is fulfilled by a genetic material :-

(1) It should not chemically and structurally
stable

(2) It should be able to generate its replica

(3) It should provide the scope for fast changes

(4) It should not able to express in the form of
mendelian character

Which of the following evidences does not favour

the lamarcian concept ?

(1) Absence of limbs in snakes

(2) Lack of pigment in cave dwelling animals

(3) melanization in peppered moth in inducstrial area

(4) Presence of webbed toes in aquatic birds

114.

115.

116.

117.

118.

119.

hnRNA ODmRNA O0I0010000000000I01000
ul -

(1) hnRNA 0000000000

(2) mRNA [ 000000000000 ea

(3) OOCIooooimonoa

(4) mRNA [l O0000OMOooooood
UImI ¢, O]

(1) 0

) 0O

(3) 0000

(4) 0001

R A | A

(1) 00
(2) 00O

(3) LODOOOnom

(4) 00000
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OOI0ooT 0oroR

(1) 000

(2) 000

(3) 00

(4) U

i -
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(3) [00IC0OI0DO0U U ooXDon 0T onog
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120. The four sketches (A,B,C and D) given below,

represent four different types of animal tissues.
Which one of these is correctly identified in the
options given, along with its correct location and
function ?

<C)%

120.

Olofoolioirottda,B,c UMby OnomooD
Hi0oooOroOruotiomionoro Uimonn
[DolooiDO0tIoIoltonbonnrodrotrioolo
0100 CO0Iiui oI OnitmIoomnmoioot o

ik;l tku
Tissue Location | Function Ard dk LFku dk;|
1) | (D) mussgs(t)it;ue Heart Cm':reairttion 1) |(D) |fpdub i*kh Ard an; an; ldpu
Secretion Ny - lo.k ,0
@l e(;(?lﬁginu;:; Nephron . 2) [(A) | LrEkdky midyk| uYiu e
absorption 3)[B) | xfFky midyk ek lo.k
(3)[(B) Glandular Intestine | Secretion
epithelium ddkyh;
AttaCh ) i if-k;k dk
@ |0 C;)illif;lgsn Y s msLjI<Se(:IIeeZaIt0 (4)|(C) dkytu 'k m RkFLF gfizid LA
e tiMr gA
DIRECTIONS FOR Q. NO. 121 TO 180 0o00000m 121 Orxgo LO0OODIOCIOD
These questions consist of two statements each, 00000000000 Co0n00m Cmnomioonoonomoooa
printed as Assertion and Reason.While aiooiaoonboonooeioon D0 oo oOooo
answering these Questions you are required to 00000000 Ol omoo
choose any one of the following four responses.
A. If both Assertion & Reason are True & the | A.  [I0000I000000OM0000I0M0D0C0MITOND Q0000 o000
Reason is a correct explanation of the Assertion. Q0 000 booooonomom
B.  Ifboth Assertion & Reason are True but Reason | B DI0I0000000000I00I0N0I00IDA0 00000000
is not a correct explanation of the Assertion. Ol Uomioiiiooom oomom
C.  If Assertion is True but the Reason is False. C. [0 00D oiooDmonno oD 000000
D. If both Assertion & Reason are False. D. 0000000 oo oo CoooOm
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Assertwn : The following circuit represents 'OR'
gate.

Reason :- For the above circuit

Y=X=A+B=A+B
1A 2B 3 C 4 D
Assertion :- A charged particle moves
perpendicular to the uniform magnetic field. Its kinetic
energy remains constant, but momentum changes.
Reason :- Force acts perpendicular to velocity of
the charged particle in uniform magnetic field.
1A 2)B 3 C @)D
Assertion :- Energy is released when heavy nuclei
undergo fission and light nuclei undergo fusion.
Reason :- For heavy nuclei, binding energy per
uncleon increases with increasing Z while for light
nuclei it decreases with increasing Z.

1A 2)B 3 C 4) D
Assertion :- The temperature dependence of
resistance is usally given as R=R (1 + o At). The
resistance of a wire increases from 100 Q to
150 €2 when its temperature is increased from 27°C
to 227°C. This implies that a = 2.5 x 10-/°C.
Reason :- R =R, (1 + o AT) is valid only when
the changes in the temperature AT is small and
AR = (R -R) << R,.

1) A 2B 3) C @ D
Assertion :- It is essential that all the lines
available in the emission spectrum will also be
available in the absorption spectrum.

Reason :- Absorption spectrum of hydrogen atom
is limited to lines of Lyman series only.

1) A 2)B 3 C @)D
Assertion :- In meter bridge experiment, a high
resistance is always connected in series with a
galvanometer.

Reason :- As resistance increases, current through
the circuit increases.
A 2B

3 C 4) D

121.

122,

123.

124.

125.

126.
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128.

129.
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131.

132.
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Assertion :- In Hertz experiment, the electric
vector of radiation produced by the source gap is
parallel to the gap.

Reason :- Production of sparks between the
detector gap is maximum when it is placed
perpendicular to the source gap.

1A 2)B 3)C 4 D
Assertion :- For a charged particle moving from
point P to point Q, the net work done by an
electrosatic field on the particle is independent of
the path connecting point P to point Q.

Reason :- The net work done by a conservative force
on an object moving along a closed loop is zero.
1A 2)B 3)C 4 D
Assertion :- The cloud in sky generally appears
to be whitish.

Reason :- Diffraction due to clouds is efficient in
equal measure at all wavelengths.

1) A 2)B 3)C 4 D
Assertion :- Temperatures near the sea coast are
moderate.

Reason :- Water has a high specific heat capacity.
1) A 2)B 3)C 4 D
Assertion :- Only microwaves are used in radar.
Reason :- Because microwaves have very small
wavelength.

1A 2)B 3)C 4 D
Assertion :- When a glass of hot milk is placed
in a room and allowed to cool, its entropy
decreases.

Reason :- Allowing hot objects to cool does not
violate the second law of thermodynamics.
1A 2B 3 C 4 D
Assertion :- If objective and eye lenses of a

microscope are interchanged then it can work as
telescope.

Reason :- The objective of telescope has very large
focal length as compared to eye lens.

1A 2)B 3 C 4) D

127.

128.

129.

130.

131.

132.

133.
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Assertion :- Equal no. of moles of helium and
oxygen gases are given equal quantities of heat.
There will be greater rise in the temperature of
helium compared to that of oxygen.

Reason :- The molecular weight of oxygen is more
than the molecular weight of helium.

1) A 2)B 3 C 4D
Assertion :- A vertical iron rod has a coil of wire
wound over it at the bottom end. An alternating
current flows in the coil. The rod goes through a
conducting ring as shown in the figure. The ring

can float at a certain height above the coil.

Reason :- In the above situation, a current is
induced in the ring which interacts with the
horizontal component of the magnetic field to
produce an average force in the upward direction.
(H A 2)B 3)C 4) D

Assertion :- The stream of water flowing at high

speed from a garden hose pipe tends to spread like
a fountain when held vertically up, but tends to
narrow down when held vertically down.

Reason :- In any steady flow of an incompressible
fluid, the volume flow rate of fluid remains constant.

(H A 2)B 3)C 4 D
Assertion :- If a projectile is projected vertically
upward in presence of air resistance time of
ascending is greater than time of descending.
Reason :- Air resistance always produces
retardation vertically downward.

1A 2)B 3C 4) D
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Assertion :- For a mass M kept at the centre of

a cube of side 'a', the flux of gravitational field
passing through its faces is -4nGM.
Reason :- If the direction of a field due to a point

source is radial and its dependence on the distance

1
't from the source is given as —5, its flux through
r’

a closed surface depends only on the strength of
the source enclosed by the surface and not on the
size or shape of the surface.

1A 2B 3 C 4 D
Assertion :- The tangent galvanometer can be
made more sensitive by increasing the number of
turns of its coil.

Reason :- Current through the galvanometer is
proportional to the number of turns of the coil.
1A 2B 3 C 4 D
Assertion :- A table cloth can be pulled from a

table without dislodging the dishes.
Reason :- To every action there is an equal and
opposite reaction.

(1A 2B 3 C 4 D
Assertion :- The equilibrium constant of the
exothermic reaction at high temperature decreases.

K, AH°| 1 1
Reason :- Since /n ? = —  + | and

1 RIT T,
for exothermic reaction, AH° = — ve and

thereby; &< 1.

1
1A 2)B 3 C 4D
Assertion :- Clis an ortho-para directing group.
Reason :- Cl is a deactivating group.

1A 2B 3)C 4 D

Assertion :- The standard electrode potential of
SHE is zero at 0°C.

Reason :- SHE is standard reference electrode.
(DA 3 C

2B 4D
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Assertion :- Rate of reaction is dependent only
on the concentration of nucleophile in SN!
reactions.

Reason :- Polar solvent favors SN' reactions.
1A 2B 3 C 4D
Assertion :- In a zero order reaction if the
concentration of reactant is doubled, the half life
period is also doubled.

Reason :- In zero order reactions half life period
is independent of concentration of reactants.
1A 2B 3 C 4D
Assertion :- Reimer tiemann reaction of phenol
with CHCI, is NaOH at 340 K gives salicyclic acid
as major product.

Reason :- The reaction occurs through

®
intermediate formation of CHCI,.

1A (2)B 3)C

Assertion :- Reversible process and a cyclic

(4) D

process are the same type of processes.
Reason :- AH_ , and AE_ , are zero.
1A 2B 3 C 4 D
Assertion :- Benzaldehyde gives a positive test
with Benedicts and Fehling solution.

Reason :- Benzaldehyde forms red precikitate

with Fehling and Benedect solutions.

1A 2B 3 C 4 D
Assertion :- Heatof neutralisation of CH,COOH versus
NaOH numerically less than 57.1 KJ / equivalent.

Reason :- Some heat is used to 10nize weak acetic

acid.
(H A (2)B 3)C

Assertion :- If three electrons could be filled in

4) D

an orbital, then the number of elements in the 1%
period will not change.

Reason :- The number of elements in a period
doesnot not depend upon the electronic
configuration.

1) A 2)B

3 C 4 D
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Assertion :- When 1.0 M NaCl solution is separated
by a 2 M glucose solution by means of a
semi—permeable membrane, water molecules
diffuses effectively from NaCl side to glucose side.
Reason :- Solvent molecules diffuse effectively
from dilute solution to concentrated solution side
due to osmosis.

1 A (2)B 3 C 4 D
Assertion :- NCl, and Mg N, both on hydrolysis
produce same colourless basic gas.

Reason :- During hydrolysis, the nucleohile OH~
will always attack on the central atom.

1A 2B 3 C 4 D
Assertion :- When A(/) and B(?) form ideal binary
solutions, AH_, = 0.

Reason :- In case of an ideal binary solution, no
net change in intermolecular interaction takes place.

1A 2)B 3)C 4 D

Assertion :- d-block elements form alloys.
Reason :- They have vacant d-orbitals.

(H) A 2)B 3 C 4) D
Assertion :- When two liquids A and B are mixed
then chance of ideal solution will be more if P ’=P¢
at same temperature.

Reason :- If attraction between solute and solvent

is more then non-ideal solution is obtained.
(DA 2)B 3 C 4) D

Assertion :- In B,H,, the terminal B-H bonds are
shorter, than the B-H bridge bonds.

Reason :- The terminal B-H bond order is greater
than that of the B-H bridge bond.

1A (2)B 3 C

Assertion :- 2-Butene exists in two isomeric form.

4 D

Reason :- But-2-ene and But-1-ene are position
isomers.

(H A 2)B 3)C 4D
Assertion :- During partial roasting of Cu,S, Cu,S
is not converted to Cu,O untill all of the FeS is
converted to FeO.

Reason :- Iron has a greater affinity for oxygen
than copper.
(H A 2)B

3 C 4) D
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Assertion :- Rate of nitration of benzene is less
than hexadeuterobenzene.

Reason :- Deuterium is isotope of hydrogen.
A (2)B 3 C “4 D
Assertion :- CaCl,, CaSO,, Ca(HSO,), & Ca(OH),
will cause hardness in water.

Reason :- All soluble salts of Ca** and Mg** cause
hardness.

A (2)B 3 C 4D
Assertion :- In Ascomycetes and Basidiomycetes

well distinct Dikaryophase present during sexual
life.

Reason :- During sexual reproduction of
Ascomycetes and Basidiomycetes plasmogamy is
immediately followed by karyogamy.

1) A 2)B 3)C 4) D
Assertion :- Lipids are not strictly macromolecule.

Reason :- Molecular weight of lipids does not
exceeds 800 dalton.

(A (2)B 3)C 4 D
Assertion :- Depletion of ozone layer may cause
cancer.

Reason :- Ozone layer not absorbs UV radiation.
(H A 2)B 3)C 4 D
Assertion :- Homothallic species of fungi are
participate in gametangial contact.

Reason :- Single dikaryon is formed due to single
gametangial contact.

(H A 2)B 3)C 4) D
Assertion :- In sun-flower family petals are
modified in to pappus.

Reason :- Pappus helps in dispersal of flower.
(H A 2)B 3)C 4 D
Assertion :- Arthritis occurs in synovial joint.
Reason :- Pain in arthritis is caused by
degeneration of synovial neurons.

(H A 2)B 3)C 4 D
Assertion :- Secondary growth occur in most of
the dicot roots and stem as well as gymnosperm
roots and stem.

Reason :- Secondary growth increases the girth
of plant organs like roots and stem.

1 A 2B 3 C “4 D
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Assertion :— After fertilization corpus luteum is
stable till parturition.

Reason :— After 3 months of intrauterine life, it
dominantly secretes progesterone.

(H A 2)B 3)C @D
Assertion :- Plasmodesmata occurs amongst
animal cells.

Reason :- Cell wall is quasifluid in nature.
A 2)B 3)C @D
Assertion :- Large amount of water could be
reabsorbed from collecting duct to produce a
concentrated urine.

Reason :- Collecting duct plays a role in the
maintenance of pH and ionic balance of blood by
selective secretion of H" and K ions.

(H A 2)B 3)C @D
Assertion :- In living organisms respiratory
substrate are often more than one.

Reason :- Pure proteins or fats are always used
as respiratory substrates.

1) A (2)B 3)C 4 D
Assertion :- Alveoli are lined by ciliated epithelium.
Reason :- Cilia beat outward to move out any
excess of air.

1A 2B 3C 4) D

Assertion :- Tropical plants have a higher
temperature optimum than the plants adapted to
temperate climate.

Reason :- The temperature optimum for
photosynthesis of different plants also depends up
on habitat that they are adapted to.

1 A 2B 3 C 4D
Assertion :- Bone have a hard and non pliable
ground substances.

Reason :- Calcium and Collagen fibre provides
strength to bone.

1) A 2)B 3)C @D
Assertion :- The choice of cry-gene depends upon
the crop & the targeted pest

Reason :- Gene cry I Ac & Cry II Ab control the
cotton bollworms while cry I Ab controls corn
borer.
1A 2B

3 C 4) D
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176. Assertion :- AIDS does not have preventive

vaccination.

Reason :- In AIDS, the number of Helper T cells
decrease.

(H A (2)B 3 C 4D

177. Assertion :- Biocontrol refers to the use of
biological methods for controlling plant pest
Reason :- In organic forming, these problems
have been tackled by the use of chemicals
(H A 2)B 3)C 4 D

178. Assertion :- Chitinous exoskeleton is a
characteristic feature of arthropods.

Reason :- 1t allows diffusion of water vapour from

atmosphere to body.

(A (2)B 3)C 4 D
179. Assertion :- In plants, apomixis is a form of asexual

reproduction that mimics sexual reproduction.

Reason :- Apomixis involves the production of

seed without the fusion of gametes.

1A (2)B 3)C 4D
180. Assertion :- Australian marsupials can be taken

as an example of adaptive radiation.

Reason :- A number of marsupials, evolved from
an ancestral stock, but all within the Australian
island continent.
(H A 2)B 3)C 4 D
181. Jacques Dubochet, Joachim Frank and Richard
Henderson won the 2017 Nobel Prize in Chemistry
for developing which of the following?
(1) Electron microscope
(2) Compound microscope
(3) Simple microscope
(4) Cryo-electron microscopy
182. Which country will host 2023 Cricket World
Cup?
(1) China
(2) Japan
(3) India
(4) Australia
183. The Global Human Capital Index 2017 published
by World Economic Forum, India ranked -
(1) 105
(2) 104
3)102
4103

176.

177.

178.

179.

180.

181.

182.

183.

00io .- 000I010000ooon oo om
0i000 .- DO0I0IT O0bO0IO0IOIooormom
0

(H A (2B 3 C 4) D
anion.- DooibonoroooiIgnboiomoed
[OnOUoDioinomipoborodc

0
Qil0oiool 0ronmoed

() A ) B 3)C 4D
e A
Qioornmaroorom

1 g 1 1 A R
[DO0IT 0000 00D om

1) A 2)B 3)C 4 D
0000 .- Domes

M OmOionooordibiN Oooe o

11
U aiomao oo im

1) A 2B 3 C 4 D
1 e 0 0 Y

[0 OmooooT 00w 0o O

0 o
H00IOnooooboidioolonoOblrobo

(DA 2)B 3 C 4) D
UmioLe

0 .0 0 Y A A
0002017 UlD0ORIOOMRODIOODDOINA

(@ J 81 e

(2) U000DnOnOmn

(3) Uioinonomn

8
(DOIOIOIOMmIoIIRNI2023 LD OOIOODIOOICOD
Qooorooome

(1) Ul

(2) Ul

(3) IO

(4) U000

(000l Qrooooo o oOnoo ot o o
00002017 OIMICOIOIIIDIOMD IO

(1) 105

(2) 104

(3) 102

(4) 103

32/36



S-SR sl CAREER INSTITUTE
Pat to Sucesra JROTA (RAJASTHAN)

184.

185.

186.

187.

188.

189.

190.

ALL INDIA OPEN TEST/Pre-Medical /AIIMS

Who of the following conferred with the
international Children’s Peace Prize for building
refugee school ?

(1) Jacob Barnett

(2) Jack Andraka

(3) Mohamad Al Jounde

(4) Shree Bose

India’s largest National Cancer Institute is set up
in which of the following States ?

(1) Andhra Pradesh

(2) Haryana

(3) Gujarat

(4) West Bengal

Who won the Sportsman of the Year award at the
first edition of Indian Sports Honours (ISH-2017)?
(1) Virat Kohli

(2) Pankaj Advani

(3) Rohan Bopanna

(4) Kidambi Srikanth

Maximum strength of Lok Sabha & Rajya Sabha
in India respectively are

(1) 542 & 250

(2) 552 & 250

(3) 542 & 275

(4) 250 & 542

Which state is called the ‘Soyabean State’ in
India ?

(1) Rajasthan

(2) Madhya Pradesh

(3) Uttar Pradesh

(4) Punjab

First woman Speaker of Lok Sabha was -

(1) Margarate Alva

(2) Sarojini Naidu

(3) Meira Kumar

(4) Indira Gandhi

The first indigenous silent film of India is -

(1) Alam Ara

(2) Raja Harishchandra
(3) Bhakta Prahlad

(4) Mother India
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A man complete a journey in 10 hours. He
travels first half of the journey at the rate of
21 km/hr and second half at the rate of 24 km/hr.
Find the total journey in km.

(1) 220 km
(2) 224 km
(3) 230 km
(4) 234 km

In a college election, a candidate who got 40% of
the total votes was defeated by his rival by 160
votes. What was the total number of votes polled?

(1) 800 (2) 900

(3) 1000 (4) 1200

Five girls took part in a race. Rajni finished
before Meenu but behind Geeta, while Aruna

finished before Seema but behind Meenu. Who

won the race?

(1) Geeta (2) Meenu

(3) Seema (4) Aruna

Find out which of the figures (1), (2), (3) and (4)
can be formed from the pieces given in figure (X).

195.

34/36

7
o RIS
(x) (1) (2) (3) (4)
(1)1
(2)2
3)3
(4)4

Out of 100 persons surveyed, 72 had a wallet, 85

wore brown shoes, 58 carried a briefcase and 98
wore a ring. How many persons must have had at
least all the four items?
(H 17 2) 15

(3)13 4) 11
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Problem Figures:
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Select a suitable figure from the Answer Figures
that would replace the question mark (?).

Answer Figures:
VAL L 2] PP ICIC
A B) ©) D) 1 2 G @ O
(H1
2)2
33
4)4
197. Choose the alternative which is closely resembles

198.

199.

200.

the mirror image of the given combination.

BR4AQ16HI
(1) IHarOA MRS
(3) IHorQARRAS (4) IH9TOARRE

(D1 (2)2 (3)3 (44

If ‘green’ means ‘yellow’; ‘yellow’ means ‘white’;

(2) [H6rQARRAE

‘white’ means ‘red’; ‘red’ means ‘violet’;
‘violet” means ‘black’; then which of the

following will be the colour of human blood?

(1) Red (2) Black
(3) Green (4) Violet
Find the odd one out.

(1) Mussoorie (2) Shimla
(3) Ooty (4) Jaipur

Roshan is taller than Hardik who is shorter than
Susheel. Niza is taller than Harry but shorter than
Hardik. Susheel is shorter than Roshan. Who is
the tallest ?

(1) Roshan

(2) Susheel

(3) Hardik

(4) Harry
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